Sec 9-4 Simplifying the Product or Simplify. State the restrictions on the variables.
Quotient of Rational Expressions
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e Factor all numerators and denominators. &X” + X " X“+X—0

e If mulitplying rational expressions you can simplify within 6x% —24x  4x*+13x+3 ——
the same fraction and/or cross cancel and finally multiply
and write as a single fraction.
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e Instead of dividing, multiply by the reciprocal then ZY(@)(* ’) (X * 77> Q( Z)
simplify. Write answer as a single fraction. 63 X

e State restrictions on the variable. X+S (,X 7“/)

X (X-2)

Simplify. State the restrictions on the variables.

Simplify. State restrictions on the variable. X S
2.
x2 =16 .x>—3x—4 ) 3 a9
SRR W X#OI‘ZFW X 42r3x—10+x +52x —4x — 20 q
£°+1lox  Ox”+0x 25" hili—3 % +x—2

éi*_“@(i“_‘f) , 772(>Y+L)\ X+Y <><+%>Q<’> X+LQ< /) Q
S?xCx 2 ) Ut r)” 5 a0 @ +3)G ’> (Wg)(m&7 o



Hwk #7 Sec 9-4
Pages 511

Problems 5, 6, 10, 11, 16, 17, 39

Find this sum:

If you factor the denominators first you notice that they already
have an 8 in common. Therefore, all you need to do is multiply
the first fraction by 8/8 and the second by 7/7 to make the
denominators the same.
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